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e mean age of 6 pupils is 12 years. When the age of a seventh pupil i

A A ;c;s 11 years. What is the age of the seventh pupil? PHPHSCEE Ce S can 55¢
B. 6years
C. 7years
D. 8years

8. A box c&ntains% white, 2 black and 3 red similar bal :
5 white, i Is. A ball is selected
box, replaced and a second ball is selected. Find the probability that theetwit ;:fe(::t):l %:1?; glr:

red.
A.

L

B.

D.—

0,1, 2,3, 4} to answer question 9 and 10.

Use the set {
bers can be formed if each number i

s used once?

9. How many five-digit num
A. 48
‘B. 60

C. 86

D. 96
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